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ant, Ka, while wrifing the ionization constant expression for different weak acids
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What is the reducing agent in the following reaction?

HZS(Q) 4= CIz(g)

HCI

A Jolah 8 () hall Jaladl Lo

J s

Jelaza) s,
o9 AS) =T
auSied! Jolad)
Jiasd

aaSE sae U

A iSegd! (Jolgatlg 8 0uuS 5ot (ol gad!
anos Loyl Ses 3 USEII 5 LS ,0lSy pauubsd) Jels
@¥ e sume camgl) lia "alSIL auShs paewbiad)” Jons
wadzast ol ssldly wuSts L2l 3l g NS raangs sasy

Jole s by ,iS) LpplasSh s,50 33l auSEs L2 3al)

SRS 2 25 53L)) pllaadd) lis ciay oS 3o
cJFsee Jole
Sk aaSi Jolall ciby 2SI Jsased) Jolad) oy
Jdelis 3 Jsasuad) Jolad) .uby,a8)) anay ©F Jased) Jolad)
auSh ) a3ld_paewbisd) sa 5ol 5l psaibis)
sa.uS)

2K(s) + Cla(g) — 2KCI(s)
Jias)

Cl3z 1auShe Jule

poiabold) i(5550 Jole
adas J555Ts 3uasST) cdlelas) anlid) claadaz)) oo
ajasdl Jalsally 3auSsadl Jolaall (sS5 .coljlal) pla)
Lesie . Jlo) Joew Gle aeesd) 3lsd) B 3acae PIes )
Jslows pasiis cold Gudled) Gand) Jeudd) Gacs capins
auShe Jole say (NACIO) padgal) S elSens e Sle
7 g'.‘" ool o Lo iy aadly wlical) uSs,

ENDAWE S

O g e

A|C|3m =z

#

J

.12
e -




w5y § paiall ST sde 302 CHM.5.3.05.001.02

poall G 5150 pdy o Sl pazall sl sae s> 5
SR TEPSY

NaEID4 .a
+7
AlPO, .b
+5
HNO, .c
+3

"::—u#.;!bﬂlﬂ_,ignf_,:ﬂ\fa_;mu.L_S'T;“;h;:i_:- G

:;.:p-=:l'l _'.:-13_,._.

NH,* .a
-3

AsO .b
+5

CrO0* .
+6

e FCH P PR CO P I R PIE [ W1 PR PP P |

NH, .a
—3
KECN .b
—3
NH, .c
-2

2 Jte

awustur stusd NFEE
al J8) Sl s alog¥ aaSlll sae spasd aslsd pasal
KCIO,
50;‘1

g Julos H

Palael lpllae] poe cauflill sae paocy alas l aelall b

3 Jadadl + 2 Jadsll

waad Skl slael 3 Jyan

o lial!
HH

o

+2
=1

-1

+1
+2
+3

+2) 4+ 201
- 0

+4) + K—2)
-

+ 2 Jadali+ 142 5141 3 1400 LSN i
Silkadal 4 2 Jla + 3 Jgazl

S ) e ) dodowd

ayaond) Ay o) 58S o) ey J1aRYly 50 clelis gl paas pgal

aclpal) samy 2 Jesaw! i R Ju (n‘_.,) aaSl sae

syl 1ia Jand ploarS)l Lpasiniy )
iy adlan) pebial) ety ¥ olisl Jyasd)

[JPRY) LV R PRENI J01 [ SO S VR

o e 5 LS oIV g9 0S5 gale 30l 3y

Syl galadl Lo

SeSEY ae] oS Aalegd 2 I

Na, O, Cl,, e gk pminn 80 Sl sia .1
Hz e
Ca*~
gl 3,000 o] 0¥ w Sk sua L2
B8 Oee! At
NH3 > N Aetle ASYH 3,00 waSlit sue .3
o akaddt Ge¥ W) L gadt U8 ASL .S
NO _» O Gaed OIS o) @i Jlude i
Al SY a3l aie .4
LIF »F Leasa —1 Lats pa Lol 2ol o5
ol pmins oy
Sl B ST aaSh sua S
NO; » O a1 303 LB laate =2 Lot ot
AH202) G psansd! aSy e
B L T
e ASlLed At SV e I el
H;0; ,» O CUPRIILS T RININC - B SRR T 2 ]
— s
o e s saead) bt sas Lps 6
NaH _» H by saen B lae e AT GLS e pliae
=Y S saa LSy el A
K
Ca prenatly 2 3 1 dapeanald aasSlat Slaal L7
Al SO by AS) aas geldy A g
CaBry Jalate oS e 3 sl slas) geene 8
e
SOy O I e RN T A F T 4

NPy T D e T i

W ain phasniarls cras¥) o] a8l 2SI Znomtal) Lol gline] X
.f.m... o paiall wShil ae ggbas 1 800 sk
Jadrs oylas
oy = 7 KCIO; I""-"‘”
=) 5
s e X powastSll
i X p ol
- X PPRTION |
I = |g al I s JLu1 R
Jyprad) aaslan X PAEA]
X alall
ind +in) +3(nx=0
- +1"‘1"i_'_°:; (+1 + (ng) + 3=2) = 0 X X RVESpw |
1+ ng +(—6)=0 X a5l
gy aled ng =45
X poatall)
(ng + 3ng) = -2 X PPIRREN |
o e (ng) + 3H—2) = —2 ;
SIS —2 gkes r:s+ (—6) = —2 X GeraaS¥)
= - X Ing._u,.nﬂ
3 _~olall e Jsashone 3 IS A Al 5id .8 X "
SV I =Y s sV S Ys e
C(sl 3 Oz«g) T Com‘gl -a
—2.0:+4.C
Cl._,(s)+anz(*)—>ZnCl._,m+I:m
a3 ¥ Zn—1.ClLi+ 1.1
CdO, +CO,_, —Cd _+CO .b

=) =) (s)

2(g)

i W O0:—2.Cd ++2.C




S § paiall 18T 2 34 CHM.5.3.05.001.02 3 Jsdadi+ 2 Joasd ‘ + 2 szl +182 5141 5 1402 SN i

i +2 Jia +3 (gl
” g GO Eftgl A0 I3y Sl b .13
> ]

CIOY" (aq) * Br'(ag) — Cl'(aq)*Bragy) i I!
jua 1= Ol asbise yity # 4)}ltg‘CI:\j£hm)ﬁfu£ NOND ; HO -  H,0,

2 N I=gaBr wSboe it 2 ()i.aull g Br 22 iy 2

ng order of the following BT \C3 RN IRV qlL.l'I
xidation number of
fleia JS 2
H-,0
Cl, - NaCl - KCIO; - KCIO H,0,

NaCl —» Cl, ——» KCIO —— KCIO,

Cl, — NaCl —» KCIO,——KCIO

KCIO; —NaCl ——»Cl, ——» KCIO

KCIO; —— KCIO —— Cl;, —» NaCl

O O O O




Jiaaly BawS] Jeli) Jinedl el Chads BawSY! Jelss Lial oS CHM.5.3.05.001.10
oty o i i B 8 T |
“il&m‘fa

&U\Lﬂ.ﬁkﬁ&lﬁ@qﬁ\ : >

1§

Qb s Y1 i 9 &
P - b e

‘ 148 5147 o Sl i

o JIzsly 1Y) Jeb) a8 YSAUI®
bl 8 gl e (ulond] iy S Jplonag syasi
g e plasie) Sl apasd) e e 43 calial)
el i) adleneS)) Asladd) oje) Jelan)) s

JIs- g 8awusS%) a¥alae )0
e L) Caiad p oSty

93 dleall 3 Wyl SleesS pasr ¢| 34 species g ¢! LS o
. a5 NH3 + HyO — NH4" + OH™ .ail) aslal)

A Laie J135Vlg 30uS¥) cidlelas dsass m
dale) Ladsad LSy 55 glsd (Ussna Jale) big, i)Y pis SLe 8,000 glys
Jalse 5955 Gally sapae gl Uiy of wpasll 65 D) Jlis (St
elS)) CUS 5 Ly 35

o0 il o

The reaction between nickel and copper (lIl) chioride eas Lo .olal = m
shown below. What are the half-reactions for this

redox reaction?
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2Mn0O, - .+ 16H* .+ SHg*
El,=0.920V — (+1.507V) = —0.587V
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E*, = +1.18V - (-0.1375V) =

Sn|Sn2+||Pt2|Pt

E{]I*‘[w + 2= — Enm }Crhl aq)
31'.3:1:1*[_';J
E' =-0.28V - (-0.744V) =

Cr|Cr*||Co*|Co

ng+l==1|‘ +2e — Hgﬂ: s J'::rhl-»qzn

+1.32V

+ e — SI'1|LEJ

+3e —Cr,

+ Iﬂrm —_ Eﬂnm +2ﬂr:"-*“lI
+0.46V

+ 2e — Cr

HE™ uq + Cryyy = Hg,y + G

E*, = +0.851V — (—0.913V) =
Cr|Cr*||Hg*|Hg

+1.764V
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By LI pus 5 Jelidl) Sy

» following is true regarding the electrochemical

gure below?

cous madaton and reduction roactions

continues untl the zinc strip is used up,

reaction stops
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Objects are electroplated when a uniform coating is

deposited as a protective or decoralive layer, as shown in

the figure below. Which of the following is true?
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